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The wind held it briefly, etc. — 9910 TR M7 NN

OVERVIEW

The &n»72 states if a person threw an object beyond n1X "7 and (before it landed)
the wind held it momentarily, so even though it later landed within the X"7 he is
2>11. Our Mv0IN explains the meaning of MA7 MNINN.

= 2090172 Y2975 19N 1D2AN IN YPIP 22X JY INADIYY YO
The explanation of m77 1NIMX is that it prevented the object from continuing on
its path while it was on the ground or even while it was in the air, as """

explained. noon explains why he is 21 if it was caught in the air, since it did not land -
=99YN 23 YY NN NN NPNN NAYYNY

Because the wind seizing it, is considered as if it rested on something.
- N3N THINT N2T 9INPT 1329939107 301915 2299 1959N Y99 23X HYT AN

And it seems that if it is rolling on the ground even according to ' who is the

1229 (who argue with ¥'"7), regarding which 829 ruled that we require a ywn 3"y 737

even if it is 2 70, nevertheless if it is rolling on the ground (without M= 1NIAX [see 1" MAAT]) -
= 5(x,0 91 DOYD NPYIV9T 42993 XYY NN

x27/°"7 will admit that we do not require that it should come to a rest as I
explained previously.

nvoN asks:
- 517 N3N INY NNY IDID PRT 1153 YATINMNT NIDIN 199701 TINDT DY NYD 17199

! This means that the object went beyond the "7, and would have continued further, however the wind did not allow
it to go further (whether on the ground or in the air), and in fact threw it back and it landed within the &"7.
2 nonT A", where "W writes, 7R3 1Y and INIR 7"72 that vYH WIPHI NV M.
3 This is seemingly referring to *" in 2,7% 1217°Y Noon regarding a case where one was reading a scroll while in a >"77
and it rolled down into the 2"77 MK, it is the view of *"1 that even if it is slightly elevated from the 2"77 ¥pnp, he
may roll it back since there was no M7 (even 1wn 2"y). See the X3 there on 2,1%. It is evident that >"3 does not
maintain X7 AnNAW »0 70PP and he is in fact the 13127 who argue with ¥"9 (according to this view of maoin). This
*"1 may be the source for 827 that 177w 3"y AMI7 TI¥ 13277 '3 710 (see XM A"7 R,0 'on YY) .
4 It would seem that regarding something moving in the air, in order for it to be considered a 7M1 the movement
must stop (through m7 1NMR), however if something is rolling on the ground, it may be considered at rest even if it
is moving. The difference will be in a case where an object was thrown 1"737% >"77n and it traveled 2"772 X"7 (see
2,7¥ 2v9); so if it was traveling in the air, since there was no 1M1 before it traveled X"7, he will be 21 only for
x¥17. However if it was traveling on the ground, he will be 211 twice; once for 7R¥)7 which was completed as soon
as it entered the 1"771 (even though it did not rest) and secondly for being 2"7772 X"7 772y,
3 XM "7 '01 ow who writes, 77 2279 BRI MM IR 7012R IRWA 72791 1"772 9a9ann2 >17n anaT. This distinction was
made by '0n there in order to resolve the contradiction between the 3 in 2,7 217"y where *"1 (and X27) require a
wwn A"y aman, and the X3 here on 2,1% that we do not require a 7mn (but rather we say 121 019p), because the X3
here (7"712 8"7 721 2"737% 2" pn) is where it was traveling ¥pap 3"y, however in P17 it was K2,
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However there is a slight difficulty; for shortly (on the '2 T1¥), 92772 concluded
the exact opposite;® that by rolling since it is not destined to rest, it is not

considered at rest -
= 9157 NS 11T 19107 1195 7INN HaN

However here (when it is in the air) since it is destined to land it is considered
at rest.

In summation; X237 agrees with *"9 that we require a ¥wn 2"y 7m7 if something is in the air,
however if it is rolling ¥p1p 3"y then > agrees to 7u17p. The X3 here however seems to indicate
that we require a 1wn 2"y 7M1 by ¥pp A"V 939ann, more than when it is in the air.

mMooIn reverses himself:
= SANNNY 1D NVITPT NAPY 2395 920 NTIN? 229 INRTIT YIDD PNYY 139349 9

And the "1 reversed his position and explained that >''9 certainly agrees with

p'"1 that we say X°17 fRITR 92 77WI9P (whether ¥p1p 3" or 1™X2), in a case -
= 109959594 NINN 95 OY NNINY S¥aT XN

Where he wants that it should rest there, like that case in our 9o -
- 99NV S¥a K97 19902 NP N0 (3,1 4m 1P21PPT RN PI9T NINNA YaN

However regarding that case in the last P95 of 12vy noon where ‘he was
reading a 159’°, in which case he does not want it to fall -
=YY" 1) by NN AN *29 dya oY
There >'"'1 requires a ymwn 3"y amm.
= DIPN DIV NINT HNNNY 1D NVITP INY NOY 12XIPY %297 19297 MNP N2

6 11m1 " explained our mwn of H37ann that he is 21 (even if it finally landed X"7 Tn) only if it was wwn A"y m
(outside the R"7). Regarding the case of 1"77 777 *"177% " pn where the 2°mdn do not rule 9P, this applies,
according to X237 even if it was "\ 70, unless it landed wn 3"v. Seemingly the teaching of X279 is the same as *".
This is what X1°27 asked 0.
7" Perhaps this *X71 is referring to the case in 1°217¥ 'on of 79O XA HY X Mp 777 (see footnote # 3); where it is dangling
in the air over the 1"711 and it is considered 1% 190. ¥"¥1. See ‘Thinking it over’.
8 <> n answered that "1 was discussing something which is rolling (on the ground, according to noown), and it is
considered Mm% 1910 PR therefore in order to be 21, it must rest (momentarily) 7wn 3"y, however when something is
in the air it is considered m1? 1210, so therefore (if not for X11), we may have thought that it does not require a 7n37
mwn 2"y, therefore X217 teaches us that even in the case of "X we require a M7, We see from this answer that there
is more reason to require a ¥Ww» A"V 7M1 when it is YPIp 3"y 932ann than when it is 9X32, which is the opposite of
what mpon just taught us that ¥p7p 3"y we do not require that it come to a rest. [*"w" learns this answer of 11
different than nvoIN, in which case there would seemingly be no question. ]
? The n"a7 MAxT amends this to read, X2°7 87 An0AW (instead of X2’ AnNAW).
10 This is referring to the X723 on 2,7 where he threw it 7"7772 X"7 72v1 7"77% *"7 in which case *"1 is 2°NW 2°m;
since he intended that it land 2"7772 he is 211 for IR¥17 and 1"772 8"7 722w (see footnote # 4).
! See footnote # 3.
12 This is the 1327 of our 71wn on XX (and elsewhere).
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And X327 stated that the 3139 who argue with ¥''9 they do not agree with muYp

N7 InTw 90, anywhere -
=73 TN IPAN OV NINY NN IPON

Even if he wants it to land there and even if it is within three o'nov, nevertheless
that is not sufficient, but we require a ¥wn 3"y 7M1 (not like *") -
= 2»n Y9N a1 ) 9 NINPT 13559549 NN?925 1Y X920 N9

And X211 does not agree with the Xn»12 stated previously that within 2rov 'a

all agree (even the 7127) that he is 2977 -
= 1HRWNn NN INTNN NPT NINT RNI2D 93D NIN

But rather %27 agrees with the Xn>392 mentioned here, which states that only if

R M7 AN, is he 21 for that is considered a ywn A"y 7ma (but not if MA7 1NOM7, where

there was no 1117 [even 7X1]) -
= 13N 29 YPINTI INWYN NI YIINT ¥1IVN 3) PNIND

And our mw» also indicates that we are discussing a case where it was y1wn m

as v''1 established the mwn, for presumably the X9°0 of our mawn where he is 21 is -
= 90990 ININ 91 IND INT NIYA 299IRT 910D NN /T TIN 2INPT NYIIT N7

Similar to the X@2 which states that if he threw it within X'"<7 and it rolled
outside X'"7 he is Mo, and the X" is in a case where it was 11 within the X"7 for

if it is not so (and it was not X"7 710 1), why is he =9WD; he threw it more than X"7, so
since the X¥°1 is in a case of 11, the X9°0 must also be in a case of 11 as "1 stated. This therefore
is the source of ¥27 that 17w, 3"y 7m17 7% '3 70 (in all cases whether 97R2 or ypap A"Y).

maoIn responds to an apparent difficulty:
= N NJ72 PN%NN *P 16250 551 2927 DYV PIN 159r¥5 95RT 1°2)0 93 NPPUN 29

And v"2arm who stated previously that within three o°150 all agree that he is

2%, will establish our 71w that it was not 173 and nevertheless he is 21 since it was
"\ 7N -

$YAINY N 9A9IN MIIN NNNMI 1IN DAY 11X 59999 179909 5INPT NYT)
And in the 821 where it state he is 792 (even though it was n only X"7% yinn),

13 x, 7%,
14 See previously in this maon and footnote # 1. According to this, the source of X317 is not "1 (see footnote # 3), but
rather this Xn»92 of M7 NIMR (see kP — N7 7).
15§, 7%,
16 mooIn just proved that our 72w» is in a case of m1; this would seemingly contradict ©v"an7 who maintains that we do
not require 111, but rather 3 710 is considered 1.
17 1f in the X9°0 it was 11 X2 then presumably the Xw™ is also 1 X72; if it is 71 X? why is he 7w, since he threw it X"7.
See TIE xm 1"7n footnote # 3 that we do not say 17 in the same mMwA.
18 He did not throw it with sufficient force that it should travel X", therefore he is 79, since it was the wind that
took it X"72 I, not his throwing.
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it is in a case where his force ceased X"7 710 and it rolled outside the R'"<7
because of the wind.

SUMMARY

a7 " requires a mwn A"y an17 only if he does not intend that the object land in
this MW", otherwise we say vp. However X271 (according to the 7127) always
requires a wn A"y aman. '

THINKING IT OVER

moon explains the X713 on the '2 7MY where it states 112 19107 12 °X7 in a case
where it is 9M82.2° . However X271 is saying his rule that ywn 3"y An37 I '3 710
regarding the 73127 in a case where he threw it ¥¥aR2 7" "% *"177%; in that case it
is not M1 1010 in the 2"717, so how can the X3 say M7 1907 112 X7 Hax?!?!

19 See xnp — M7 7 for a detailed explanation of this mooin.
20 See footnote # 7.
21 See 2a7ann 7" K",
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